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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

I- I would like to compliment Jaden for the course of action he recommended because |
think it will --=--—----- our problem once and for all.
1) sequence 2) speculate 3) signify 4) settle

2-  An - is often expressed as a simile, as in “The football game was like a battle
between gladiators.”
1) endeavor 2) invasion 3) analogy 4) arena

3- Do you know of an alternate route we could take to -------—-— having to drive through
the city?
1) circumvent 2) delight in 3) partake of 4) suggest

4- My political science professor presents her lectures in a relaxed manner using -------eeeu-
rather than elaborate language.

1) loquacious 2) colloquial 3) literary 4) inflated

5- My uncle, a farmer, is an e pessimist when he discusses the weather. For
example, if the sun is shining, he’s sure a drought is beginning; if it's raining, he’s sure
his crops will be washed away.

1) initial 2) instant 3) immutable 4) interactive

6- The pharmaceutical company had to --—- its advertising claim regarding the
healing power of its new arthritis medicine because research studies clearly indicate the
medicine isn’t effective.

1) repudiate 2) enhance 3) distribute 4) replicate

7-  It's an ---—--—-——- to their friends as to why the couple broke up because they seem
perfect for each other.
1) interference 2) inference 3) alteration 4) enigma

8-  Mr. Baker has decided to move to a big city because of a —---eeeeeee- of employment
opportunities in his small hometown.
1) demonstration 2) foundation 3) trace 4) dearth
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9-  There are many good reasons for not smoking, but those having to do with health are

the most %
1) passionate 2) cogent 3) paradoxical 4) accidental
10- -——--—-—- therapy is a psychological approach designed to help individuals change
harmful thought patterns to more constructive ones.
1) Inherent 2) Thoughtful 3) Cognitive 4) Epidemiological

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

The ecarliest human artifacts showing evidence of workmanship with an artistic
purpose (11) ==-eemeemen the subject of some debate. It is clear that such workmanship
existed some 40,000 years ago in the Upper Paleolithic era, (12) -==-==nmv-- it is quite
possible that it began earlier. In September 2018, scientists (13) ------renmm- the
discovery of (14) ~=-emmeeee- by Homo sapiens. which is estimated to be 73,000 years
old. much earlier than the 43.000-year-old artifacts (15) --=--=------ to be the earliest
known modern human drawings found previously.

11- 1)are 2)1s 3) has been 4) was
12- 1)as 2) when 3) since 4) although
13- 1) who reported 2) reported 3) having reported  4) to report
14- 1) known drawing the earliest 2) the earliest drawing was known
3) the earliest known drawing 4) known as the earliest drawing
15- 1) that understand 2) understood
3) were understood 4) they are understood

| PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

When someone discovers that you are writing a textbook, one (or both) of two
questions will be asked. The first is "Why are you writing a book?" and the second is
"How is your book different from what's out there?" The first question is fairly easy
to answer. You are writing a book because you are not entirely satisfied with the
available texts. The second question is harder to answer. The answer can't be put in a
few sentences so, in order not to bore your audience (who may be asking the question
only out of politeness). you try to say something quick and witty. It usually doesn't
work.

The purpose of this book is to build theoretical statistics (as different from
mathematical statistics) from the first principles of probability theory. Logical
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16-

17-

18-

19-

20-

21-

22-

24-

development, proofs, ideas. themes, etc., evolve through statistical arguments. Thus,
starting from the basics of probability. we develop the theory of statistical inference
using techniques, definitions, and concepts that are statistical and are natural
extensions and consequences of previous concepts. When this endeavor was started.
we were not sure how well it would work. The final judgment of our success is, of
course, left to the reader.

How many questions will be asked?

1) A few 2) Two 3) only one 4) None
The first question i§ -—----=uuux,

1) vague 2) hard 3) important 4) almost easy
The second question is —---=-=ev,

1) harder 2) impolit 3) logical 4) natural
To develop statistics, we start from -——----—--—-,

1) algebra 2) basics of probability

3) data 4) numbers

The final judgment is left to the —--=--=enmv,

1) student 2) reader 3) college 4) teacher
PASSAGE 2:

The subject of probability theory is the foundation upon which all of statistics is built,
providing a means for modeling populations, experiments, or almost anything else that
could be considered a random phenomenon. Through these models, statisticians are
able to draw inferences about populations, inferences based on examination of only a
part of the whole.

The theory of probability has a long and rich history, dating back at least to the
seventeenth century when. at the request of their friend. the Chevalier de Méré, Pascal

and Fermat developed a mathematical formulation of gambling odds.

What is the foundation of statistics?

1) Probability 2) Algebra 3) Analysis 4) Data
By modeling populations, statistics is able to —-----—--—,

1) direct 2) solve problems

3) draw inferenceS 4) make life easy
The history of probability goes back to the ———--—-—-,

1) 12th century 2) 14th century

3) 17th century 4) 15th century

Who developed a foundation for gambling?

1) Fisher 2) Pascal alone

3) Fermat alone 4) Pascal and Fermat
Who was the Chevalier de Méré?

1) Pearson's friend 2) Fisher's friend

3) Pascal's friend 4) Wald's friend
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PASSAGE 3:

When an experiment is performed, the realization of the experiment is an outcome in
the sample space. If the experiment is performed a number of times. different
outcomes may occur each time or some outcomes may repeat. This "frequency of
occurrence” of an outcome can be thought of as a probability. More probable
outcomes occur more frequently. If the outcomes of an experiment can be described
probabilistically, we are on our way to analyzing the experiment statistically.

In this section we describe some of the basics of probability theory. We do not
define probabilities in terms of frequencies but instead take the mathematically simpler
axiomatic approach. As will be seen, the axiomatic approach is not concerned with the
interpretations of probabilities. but is concerned only that the probabilities are defined
by a function satisfving the axioms. Interpretations of the probabilities are quite
another matter. The "frequency of occurrence" of an event is one example of a
particular interpretation of probability. Another possible interpretation is a subjective
one. where rather than thinking of probability as frequency, we can think of it as a
belief in the chance of an event occurring.

26- The result of an experiment is a(n) -—-—-—--,

1) success 2) failure 3) outcome 4) sample space
27-  The relative frequency of an outcome can be thought as --—---—---,

1) data 2) probability

3) a small number 4) a large number
28- A simple approach to defining probability is ——---eaemv,

1) events 2) belief 3) frequency 4) axioms
29-  The axiomatic method of probability is used for

1) proving 2) interpreting 3) counting 4) explaining
30- Subjective probability can be thought as ~——--nnmv,

1) belief 2) chance 3) statistics 4) frequency
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